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SLA-334

B.A. Part-III (Supplementary) Examination, 2022

PHILOSOPHY
Paper - II (Gr. B-III)
(Mental Ability and Reasoning)

Time : 1% Hours | | Maximum Marks : 100
Section-A (Marks : 2 x 10 = 20)
Note -— Answer all fen questions (Answer limit 50 words). Each question carries

Note —

e -

2 marks.

(TUS-3N) (3 : 2 x 10 = 20)
Tt T YT $ I Y (WA 50 ) | T&F T 2 3k
Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven. (Answer limit 200 words). Each
question carries 8 marks.

(Tue-9) (37k : 8 x 5 = 40)
d H ¥ fRgl Ut gl & SW A1 (SW-HE 200 ) | T I 8 ITh
ol

Section—C (Marks : 20 x 2 = 40)
Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.

(Tus-7) (31 : 20 x 2 = 40)
gﬂﬁ@%’ﬁ‘fuﬁ%wé}m (SR-H1 500 I3) | T T 20 HF

|
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Section—A (@US-37)
1. (@) BODMAS

~

EICRIES]
(i1)) Clock Test
HEl Tie
(ii1)) Riddle Test
TR e

(iv) Even Number

9 "
(v)  Input Test

ERkCAETE L
(vi) Code Language

FHE W
(vii) Calendar Test

HoUeT THET
(viii)) Reasoning

TR
(ix) Venn Diagram

o FRE
(x)  Probability

EUREXRI

Section-B (@UE-9)
2. Distinguish between the following :

(1) Ascending and Discending order
(i1))  Verbal riddle and Non-verbal riddle
frafafea § o T ﬁﬁn{ :
(i) IR FH R TRE FH
(i) vnfssw uret iR swmfs® wrel
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3. Complete the given series :
(1) 5, 12, 26, 54, 7,7
i) 6,96 13,18, 24,7, 7
(iii) BDEF, CFI, DHL, ?, ?
awv) A, CFEJQO?77?
fretfafen SEens # 0 T
(1) 5, 12, 26, 54, 7,7
(i) 6,96 13,18, 24,77
(iii) BDEF, CFI, DHL, ?, ?
awv) A, CFEIJO?77?
4.  Explain Riddle Test with examples.
ool TUE0 i IJEI0 Hied A HIfT

5. If P is pointer of +, Q is pointer of —, R is pointer of X, and S is pointer of +,
then solve the each statement and identify the true statement :

() 16R12P49S7Q9 =200
(i) 32S8R9=160Q I2R 12
(i) SR8P8S8Q8=57
(ivi 36R4S8Q7P4=10

I P, + 1 ok ¥, Q, — 1 &% §, R, X o Yok & A1 S, + 1 o ¥ 0 FIh
FHIT hl A HIA GL HA FHIT Hl TEEM R

(1) 16 R12P49S7 Q9 =200
(i) 32S8R9=160Q 12 R 12
(i) 8R8P8S8Q8=57
(iv 36R4S8Q7P4=10
6. Explain Pythogorean theorem.
TELNRE THT Fi AT It |

7.  Matrix
Tfead

8. Code Language Test
FHE TS I
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Section—C (@US-H)

In each of the following question, except one, all the figures form a group on the

basis of certain similarities. Identify the odd figure and give reason :

frefafed o 999 8 o T8 stfaal 4 9 et ©F oo i Siewt okt g

sTpfaat fordt e THFT & SR W 9Hg oAIT §1 STHHM SR i UgEe ud

ECUE [T E1U

o [N/ |7 =] |
(@) (b) (© (d) (e
o [NV O LU\
() (b) (© (d) (e
SRR ORRORIVEES
() (b) (© (d) (e
N = T Rl A
| A |l =
() (b) (© (d) (e
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v)

(vi)

(vii)

(viii)

(ix)

()

BI-89

A 4 A / /
(@) (b) () (d) (e)
2k
(@) (b) () (d) (e)
A F Z E N
(@) (b) () (d) (e)
) y . . .
(@) (b) () (d) (e)
. ©lo .
o | & o | X x | o )

X | X oo o | X

() (b) () (d)

(@) (b) () (d) (e)
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10. Arrange the following words on the basis of dictionary order :
(i) SOUND, SOCKS, SHOCK, SHARP, SNOOKER
(i) EAGLE, EARTH, EAGER, EARLY, EACH
(iii) PLANE, PLAIN, PLENTY, PLAYER, PLACE
(iv)  WOUND, WRITER, WHITER, WORST, WORKED
(v) HEAVEN, HILLOCK, HAWKER, HILT, HISTORY
frafafea vt = femm w0 & MR W oaiked w& fafey .
(i) SOUND, SOCKS, SHOCK, SHARP, SNOOKER
(i) EAGLE, EARTH, EAGER, EARLY, EACH
(iii) PLANE, PLAIN, PLENTY, PLAYER, PLACE
(iv)  WOUND, WRITER, WHITER, WORST, WORKED
(v) HEAVEN, HILLOCK, HAWKER, HILT, HISTORY

11. Read the following information and answer the questions :

Seven friends A, B, C, D, E, F and G are sitting in a straight line facing north,

but not necessarily in the same order. D is third to the right of F. C is second
to the left of G. E is second to the right of D. B is next to the right of A.

(1) Who is sitting third to the right of B ?
(i1))  Who is sitting to the left of A ?

(ii1)  Which of the following pairs of people represent correctly to the people

sitting at the ends ?

()
(b)
(©)
(d)
(€)

FC
FG
GC
EF
EG

(iv)  If all the people are made to sit in the alphabatical order from left to right,

then the position of how many people will not change.

(v)  Who is sitting exactly between D and E ?
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frfafed SHeRr &1 9fed oIk feu 7o yeei & W SIS

Tm a3 A, B, C, D, E, F 3R G W & 3R Hg &l TH qiefl W@ | 93 ¥, W e
T fF St #F HI D, F & W &l T 81 C, G & a¢ &I g&0 ©1 E, D & 3¢
H TET ¥ B, A F TE T H T

1)
(1)
(iii)

(iv)

B % qHff W TR WM R HH S § ?

A o I | B S § 2

@ & Frefafea el 8 @ 9fw & oifan SR W 99 =afFm@ =1 Se-3id wiEn
frefa e ¢ 2

(1) FC

(&) FG

(W GC
(7) EF
(3) EG
Ffg gt <t 1 =S | ¢ quigeRd § e S, @ fhan @il v T giafda
& & ?

(v) D3R E® 3 o & & 51 § ?
12. Write code for the following according to the given examples :
Examples X SIR-PSPIPR
Write Code for i) MAN
(i) RAIN
Examples : TRAIN-GIZRM
Write Code for (i) FIGURE
(il) NATION
Examples : BLACK-KCALB
Write Code for (i) WHITE
(i) PURPLE
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Examples

Write Code for

Examples

Write Code for

T feu U SEERel & SR frefafea vt w1 wenfas amon § fafen

iUl
i fafe

e fafen

e fafen

e fafen

e fafey

BI-89

DISPEL-IDPSLE
() EFFECT
(i) DOUBLE
BLOCK-CKPBL
() CLOCK
(i) MERCURY

SIR-PSPIPR
(i) MAN

(i) RAIN
TRAIN-GIZRM
(i) FIGURE

(i) NATION
BLACK-KCALB
() WHITE

(i) PURPLE
DISPEL-IDPSLE
(i) EFFECT

(i) DOUBLE
BLOCK-CKPBL
() CLOCK
(i) MERCURY
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